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SECTION- 1
Note :

1) Answer all the questions. ii) Choose the most appropriate answer
from the given four alternatives and write the option code and the
corresponding answer; Bx1i=8
1. "Gametes are never hybrid” This is a statement of

a) Law of dominance * b) Law of independent assortrment
c) Law of segregatiOE d) Law of random fertilization
2. Which of the following statement is correct
a) Agar is not extracted from marine algae.
b) Callus undergoes differentiation and produces somatic embroyids
c) Surface Steritization of explants is done by using mercuric bromide
d) PH of the culture medium is 5.0 to 6.0.
3. The dissolved oxygen and causes death of other a
called Terror of Bengal is

a) Fracaria b) Diascaria ¢) Muraiya d) Eichhornia Crassipes
4. One green house gas contributes 14% of total global warming and another
contributes 6%. These are respectively indentified as
a) N;O and CO, b) CFCs and N,O ¢) CH, and CO, 'd)CH, and CFCs
5. Groundnut is native of

quatic organisms is popularly

a) Philippines b) India c) North America d) Braazil

6. Golden rice differs from its parental strain by the addition of beta - Carotene
genes.
a) 4 b) 2 c) 7 d) 3

7. Ten percent Law was proposed by
a) Karl Mabius b) Lindenman c) Tansley d) Wisemen

8. Which of the given plant produces Cardiac glycosides?
a) Calotropis b) Acacla c) Nepenthes d) Utricularia

SECTION - 2
Answer any four questions: 4x2=8

9. What are the types of style.

10. What is carbon capture and storage?
11. What is Polygenic inheritance?

12. What is Process engineering?

13. What is Cryopreservation?
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2 XIl-BIOLOGY

I, Marmea the humars thet & responsible Tor thie health of hurman DelrEs

SECTION -3

Arimweer mny thre QUERIONS. Question No.19 is Compulsany?

L5, Write the advantapes and disadvantages of 81 cotton

16, What is poilution indigaters? Give exampla.

17, Write shout Psaudchatarasis.

L8, wirite the useful part and Medicingl wses of the given plants,

a] Holybasd b) goaseberny €] Mivarn

19, Draw tha diagram of Mature anther and label the parts

SECTIOM -4

IxA=9

Angswer Al the guestions: 2x8=10

20, What = enfasperm, Explain the types
write the significance of Blody,

21, Ewplain the types ol Ecosystam with mcampla, (OR)
Wt ara millets? What are its types? Ghie example for aach type

BIO - ZOOLOGY Murrky: 35
PART -1

Maote : §) Answer all the quastions, ii) Choose the most appropriate answer
from the given four altermativas and write the option code and tha
correspanding answer., Hx1=8

L ¥0 type of gex dotermination and XY bype of sex datermination are E‘(,arnpls of

A Male heterogarnety by} Pemad heterogamety gt

] Male homagamety d) Bath (b and () ay

OMA and PMA dre semdar with resgect to R

&) Thymine as a nitrogen base b)) A single S\'.:'In:fan;j;[\allx ﬂ'yp.g I;

)| ThE Hl]]l

b

sequance of nuclaatides for the aming ackd pheny alm

1. Lafmarck's "Thenry of Acguired characters’ was {ﬁsam w'
) Charles Darwin b) Okborn ch Spances d) .ﬂ;w Walsmann

4. Match the pathiogen will fespective disease caused by thavn ang sﬂn the correct
rrateh using tha codes. given below,

A Letshemania donavanm = 1} Amhhm

B} Wuchemria banceeit 'iT]- Kald- 2gar

L] Trypanasoma gambionsa Hf,ﬁ.qﬁnu dicknres

B} Entamonba hestalytica iv) Filanses,

B A B-dw T, D= BYA -, BN, £, B
1A=l B =i T i, B = Spd) A- | B v, Ol b -

. WWW, way‘ﬁﬂaucﬂess ,ﬁrg

i B " B

| ™

sk " XIl - BIOLOGY

5. Which & the fafowing microbes Iu;ﬂbﬂlﬂrﬂ\e productiah of Femaric acid
2) Aspergillus niger ©) Acetobasfor scetic c) Rbagpes Oryzas o) Lactobacillus
B Which of the following i ru;t gg-mlu::ﬁu Diagra : technique?
a) Stem cefl therapy . h!:*ne:ul‘nmnanr A technoloy
£} Polymerase chain reagtion ) ELISA
7. Sofhe seganisms aredble (o mialitaln homsdstasis of physical means
a) Canform ) Reguiats & Migrats d) Suspend
8. Assertion {4): The environmentsl| cofditions of the tropics are favourable for
specigfion ani dwvergity of organisms
Reasan rgh 'i'h._,:lln'ﬁu}_mlnn:. temperature, Numidity and phutn period &re
Frare ar leos SERBE and cangenlal.
al Asseriion t.l] ard  Fsason (A ane frue and Resson sdplains Assertion
Iy,
) Bnth Assertion .!'!.:l and Ressan (R) are true bul Reason @ not the correck
'ﬂ.g:plurqﬁm ﬂlmertlnn
c} Mgmertion (A} is true, but Reasan (R) is Talsa
d)- aufﬁ .!u.mrtlnn A} and Reason [R) are false,

L4 . PART - 11
thr nl’wnr any 4 of the questions. Question Mo, 14 is compulsory: 4x2=8
S0, What 8 merogamy? Give an axampla.

M. Define Hardy - Welnberg Principle:
.Lt Name the components o prepare. bindleset,
#13. Dilferéntiate Mlgraunnammiqraum

13, List out the bediversity hotspoets in 1ndia,

14, Write sharl notes an Euttophication,

PART - 111

Mate: Answer any 4 of the guestions. Question No.19 is Compulsory:
Ix3A=9

15, Wrile short notes on Polycystic Ovary Syndorme, (PCOS)
16, Maptign the significance af Cryopresendation.
17, Write down any three sslient features of Human Genome Project.
18 Ddferantiate batween Pnmary and Secondary immung respanses (Any thres)
19, What are stem cell Banks® Mention their types.

PART - IV
Mote: Answer All the questions: 2x5=10
20. a) Explain the process of Sparmatagenssis with & soitable diagram. (oR)
B) Whit are the applications of DNA fingsr prmting.
(oR)

21 &) Write short notes on 4} Amoebizsisii) African sleeping sickness
b} List out the various causes for biodiversity losses
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T:12Bio Tenkasi District Common Examinations 000008
THENKASI Common Half Yearly Examination - December 2022
R L T I 1 Standard - 12
AR - BIOLOGY
Time Allowed:3.00 Hours BIO - BOTANY Maximum Marks: 70
~ PART-I
Choose the correct answer: 8x1=8
1. New world species of cotton.
a) Gossipium arboretum b) G.herbaceum
¢) Both a and b d) G.barbadense
2. The quickest method of plant breeding Is
a) Introduction b) Selection
c) Hybridization d) Mutation breeding
3. Depletion of which gas in the atmosphere can lead to an increased incidenceaf skin
cancer?
a) Ammonia b) Methane ¢} Nitrous oxide d) Ozene
4. \Which of the following is/are not a natural ecosystem?
a) Forest ecosystem 'b) Rice field
¢) Grassland ecosystem d) Desert ecosystem
5. Which of the given plant produces cardiac glycosides?
a) Calotropis b) Acacia c) Nepen;r‘ies d) Utricularia
6. What is the secondary metabolite that is obtained frem chinchona officinalis?
a) Digoxin b) codeine ¢) Capsaicin d) Quinine
7. Algae used for the production of Single cell protein i
a) Alcaligenes b) Candida utilis c) Sﬁirdiﬁa d) Saccharomyces
8. Part that gets tranformed into seed after fertilization .
a) Ovary b) Ovule © ¢} Nucellus d) Antipodal cells
Answer any four of the following. ' 4x2=8

g. What are clones? i

10. Give the names of the scléntists’who reducovered Mendelism.

11. What are the materials used to grow microorganism like Spirulina?
12, What do you mean b‘g;’ Embryocids?

13, What is ecological hierarchy?

14. Give gefinitions for Organic farming.

Answer any three of the following. Question Number 19 is compulsory. 3x3=9
15. Enumerate the uses of turmeric. -

16.. Différentiate primary introduction from secondary introduction.

17, ‘Expand CC5.

18. What Is seed ball?

19, List out the functions of tapetum

Answer the following. | 2%x5=10
20. a) Explain the different modes of entry of pollen tube Into the ovule.
' | (OR)
b) Differentiate continuous variation with discontinuous variation.
| 21. a) What are restriction enzymes? Mention their types with role in Blotechnology.
(OR) '
b) Explain the basic concepts involved in plant tissue culture,

|
A
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BIO - ZOOLOGY
SECTION - I

Choose the best answer:

Hl=
1. Repeated Binary fisslon Is seen dtea
a) Ceratlum b) Vorticella c) Parameclum  d) Amoeba
2. Albimlsm Is due to
a) Autosomal recessive gene b) Autosomal dominant gene
¢) Allosomal recessive gene d) Allesomal dominant qene
3. Which one is correctly matched
a) Reptiles and Birds = Archeopterynx
b) Homologous organ = Convergent Evolution
¢) Neo-Darwisin = Osborn, Packard, cope
d) Darwin's finches - ALX1 gene
Code:-
1. 'A'and ‘D’ Only
2.'A" and ‘B’ only
3. 'A' only
4. A, Band D Only
4. The Duration of Erytherocytic cycle of Quartran Malaria Is . ]
a) 48 Hrs b) 72 Hrs c) 47 Hrs d) 36-48 Hrs
5. Cyclosporin - "A" is an immunosuppresive drug Produced from =
a) Aspergillus niger b) Manascus purpureus
¢) Penidllium notatum - d) Trichoderma polysporum
§. Transgenic animals are those which have —
a) Foreign DNA in some of their cells b) Foreign DNA in all their cells
) Foreign RNA in some of their cells d) Forelgn RNA is all their cells
7. Which one is incorrectly matched? '
2) Predation = Lion and Deer
b) Commensalism - Sucker fish and Shark
c) Steotherms - Cat, dog, Tiger
d) Phototaxis - moth _
8. Assertion: Eutrophication due to nutrient enrichment. This causes a algal bloom
which affect the quality of water, '
Reason: Red tides, if occurycan be lethal to aquatic organisms.
a) 'A' is correct 'R’ is wrong b) Both ‘A’ and 'R’ wrong
c) ‘A’ wrong 'R’ are correct d) Both ‘A" and 'R’ are correct
SECTION II
Answer any four questions. 4x2=8
9. Expand the following 1. PAN 2. CFC.
10. Write down any two major functions of soll.
11. Any two disadvantages of cloning,
12. Which one is called “queen of drug” and why?
13. Name the drugs which have Hallucinogenic effects,
14. What is meant by cryptochism?
: : ; SECTION III
Answer any three questions. Question Number 18 Is compulsory. 3x3=9
15, The Scrotum Is acted as Thermo regulator. Why? Explain.
16., Tabulate the causative agent, Symptoms and Incubation period of Genital warts

17,

Explain Turner's Syndrome.

1B. Taking the example of peppered moth, explain the action of natural selection.
What do you call the above phenomenon? 4 _
19. Any three uses of Transgenesis, SIVAKGOMAS< . M
SECTION IV : oRe— NV S5S
&Ry RAeS (MR
Answer all : 2x5=10
20. Effects and Control of Alr pollution.

21,

h
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Explain the various steps Invelved In PCR technique. e es) Disee
Explain the structure of Immunoglobulin with labelled sketch,

: (OR)
Explain maintenance of pregnancy and embryenic development.



WAY TO SUCCE g pNGALPATTU

COMMON HALFYEARLY EXAMINATION - 2022 - 23

Time Allowed : 3.00 Hours) BIOLOGY At Murks:. 70
part - | (Blo-Botany) (Marks : J85)
section - |
Bx1=8

Note. (I} Answer All the questions.
() Choose the most appropriate answer from the given four alternatives and write the

option code and corresponding answer.
Which one of the following plan reproduces by leaf?

—
-

a) Agaue b) Bryophyllum c) Gladiolus d) Potalo
2. Mutations can be induced with
a) Gamma rediations b) Infrared ﬂf:guifau::‘; ) WA d) Ethylene
3. Solidifying agent used In plant tissue r
a) Ninnlini:nncid t':; Cobaltous chloride c) EDTA d) Agar
4. Soil water available for plant is
a) Gravitational waler b) Chemically bound water
c) Capillary water . d) Hygroscopic waler
5. Which one of the following crop varilics correct malches with its resistance 1o a disease?
Variety Resistance to diseases .
a) Pusa Komal Bacterial blight .
b) Pusa sadabahar White rust
c) Pusa Shubhra Chilli Mosaic Virus
d) Brassica Pusa Swarhim
6. The lime duration for Sterilization process by using autoclave is —=— minutes and the temperature is —
a) 10 lo 30 minutes and 125°C b) 15 to 30 minules and 121°C
€) 15 to 20 minutes and 125°C d) 10 to 20 minutes and 121°C
7. Consumption of which one of the following foods present Ihe kind of blindness associaled with Vitamin
A deficiency? ' '
a) Flavar Savr b) Canola c). Golen rice d) Bl.Brinjal
8. Assertion (A) : Gamma rays are generally use lo induce mutation in Wheal Varieties?
Reason (R) : Because they carry lower energy 1o non - ionize electrons from alom

a) Ais correct R is correct explanation of & b) A is correct “R" is not correct explanation of *A”
c) Als correcl *R" Is wrong explanation of A d) Aand R is wrong
. SECTION - 2
Note : Answer any four questions. Ax2=8
'S. Distinguish between Tenuinucéliate and Crassinucellate Ovules. .
10. Name the Chemicals used in Gene transfer.
11. What are the uses of Gene Mapping?
12. What is meanl by Pedology?
13. Write the difference belween redifferentiation and dedifferentiation.
14. What are called King-and Queen of Species?
: SECTION - 3 -
Note : Answerany three questions. Question No. 19 Is compulsory. Ixi=9
15. What is tapetum? Whal are ils function?
16. Distinguish between Habitat and Niche.
17. Mention the Name of Man Made Cereals. How is il formed?
18. Give an account of Crzopreservalion?
19. What do you know aboul PBR3227?7
20. What are the objectives of Plant Breeding?
SECTION - 4
Note : Answer all the questions, 2x5=10
21. (a) Give an account of Protoplast cullure with diagram? OR
(b) Draw the Flow chart of Ploidy?
22.(a) Explain Ten Percent Law wt;th ax;mple OR
(b) How will you prepare an Organic peslicide for your Home Garden with the i
from your Kilchen Garden? Vegelables available

CH/ 12/ Bio N
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PART - I ( BIO-ZOOLOGY) (Max. Marks: 35)

SECTION - |
Note: (i) Answer all the questions
() Choose the most appropriate answer from the glven four Alternatives and write the
oplion code and the corresponding answer Bx1=8
1. Which is the correct order of reproductive events in higher animals?
a) gametaqanusis-.faﬂﬂizution-.celavagn-.nrgnnugenesia-eﬂﬂlmlﬂliﬂﬂ
b) Farlflizaﬂnn-mamatnganash-.cleavage4nallmlathﬂ-rﬂl‘ll5"°ﬂ°"“i'
c) Gametogenesis- cleavage +fertilization- gastrylation-organogenesis
d) gamaloganemaierlllzalinnacleavnga-.nastmlalion-ﬂmﬂﬂﬂﬂﬂﬂ““
2. Which one of the following is true regarding HIV?
a) Itis a sexually transmitted killer disease
b), ILis a baclerial disease which causes immune deficiency g
€) The genetic material is double stranded RNA :
d) Itis capable of infecting babies through droplel infection.
3. Haemophilia is more common in males because it is a
.8) Dominant trail carried by Y chromosome
b) Recessive character carried by X chromosome
c) Dominant trait carried by X chromosome,
d) Recessive trait carried by Y chromosome.
4. Which one of the following is not true regarding DNA?
a) Itis the genelic material present universally in all organisms.
b) Itis a polymer of nucleotides ) ltis a self - replicating molecule
d) It is a slorage molecule of genelic informalion .
5. Which period is called as age of fishes?

a) Permian b) Triassic c) Devonian d) Ordovician
6. Which one of the following is correctly matched? <

a. Kala azar - Tinea pedis §

b) Alhelete's foot - Sand fly

c) Amoebiasis - trophozoile

d) African sleeping sickness flea
7. Assertion (A) : Probiotic microbes are involved in idly preparation,
Reason (R) : - Lactobacillus tacti is used in it
a) Both (A) and (R) are ture and (R) explains (A)
b) Both (A) and (R) are ture and (R) does not explain (A)

c) Both (A) and (R) are false d) (A)is true but (R) is false
8. Which of the following is known as lungs of planet Earth?
a) Tundra forest 0} Rain forest of Northest India
c) Taiga forest : d) Amazon rain forest
¢ SECTION -1l
Note : Answer any four of the following questions. 4x2=8

9. What is Parthenogenesis?Give two examples from animals?
10. Differentiale Foelicide from infanticide. :
11. State Hardy Weinberg equilibrium.
12. What is Melaslasis?
13. Differentiate antibodies from antibiotics?
14, What you mean by Sacred groves?
. ) SECTION - Il .

Note : Answer any three of the following questions, Question Number 19 Is compulsory. 3x3=9

15. How can we conltrol Eutrophication? .

16. Write an adaptations of Eurythermy?
17. Mention the role of acrosomal reaction and the formation of Ferilization membrane.

18. Write the characteristics of Hunlimlmhq?h-nr&a?
A A is called an adaptor Molecu
e b r SECTION - IV

Note : Answer all the questions. : . 2x5=10
20. (a) Describe the structure of human Ovum with a neat labelled diagram. OR

(b) Explain the process of DNA Replicaﬁnn.‘
21. (a) Describe the structure of Immunoglobulin molecules, OR

(D) List out the various causes for biodiversily losses. CH/12/Blo/2
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PART - | (Bio-Botany) (35 marks) Section - |
Note : 1.Answer all the questions. 2. Choose the most appropriate answer from the given four alterna-

tive and write the option code and the correcponding answer :- gxX1=8
Aplantcalled X possesses small flower with reduced perianth and versatile anther. The probable agentfor pollina-
tion would be a) Water D) air ¢c) butterflies  d) beetles

A protoplast is a cell :

a) undergoing division b} without cell wall  ¢) without plasma membrane d) without nucleus =

The figure below is the diagrammatic representation of the vector pBR 322. Which one of the Lﬂ'Ilural]“Eg_u%ns
i 1

comectly identifies its certain componants e . ¥
~a) O - original restriction enzyme o Y e =t

b} rop - reduced osmatic pressure w iy

c) Hmdﬂlll, F:;cch - seleclable markers . = ]

d) amp™, tet - antibiotic resistance genes il . :

Colmn_ represent the size of the soil particles and Column Il represents type nf.sc;ﬁ' ! pﬂrﬁéﬁ‘l‘!fﬁ{h‘ﬂh of the

following is correct match for the Column | and Column 1. s t'»

Column - | Column- Il - N S

1. 0.2 t0 2.00 mm - i} Slit soil y

Il. Less than 0.002mm - il) Clayey sail & 1B

II'0.002 to 0.02mm - iii) Sandy soil o W ]

- —

IV.0.002 to 0.2 mm - iv) Loamy soil 7 T Y

a) |-, N-fii, Il=iv IV=L B) 1=iv Ui Wil V=il c) I-iii dl-i Wi INEiv d) None of the above
Which one is in descending order of a food chain. 5w _

a) Producers — Secondary — Consumers — Primary Cofisumers —» Tertiary Consumers
b) Tertiary Consumers —» Primary Consumers — Secondary Cansumers — Producers

c) Tertiary consumers — Secondary Consumers —» ary consumers —» Producer

d) Tertiary consumers — Producers — Priamary consumers — Secondary consumers
With respect of Eichhornia =Aer.. -

Statarrant A+ It drains offoxygen from watar and [S seengrowing in standing water.

Statement B . It is an indigenous species of our Coufitry.

Statament Als correct and Statemefit B iSiwrong
Both statements A and B are wrofg
Imperting better varieties and plants from outsidle and acclimatizing them todocal environment is called
a) cloning b) hetasosis £) selection d) introduction
The aclive principle trans - iEtr@hydro canabial is present in
a) Opium b) Clircuma ¢) Marijuana d) Andrographis
3 Section - Il .
Note : Answer anyfour of the following questions :- - 4X2=8
Draw the structure of T.S. of mature anther and label its parts.
Define: Bioramédiation.
Write 2 note on cryopresenyation.
Of the totafisunlight, only'2 - 10% of the solar energy is used by green plants for photosynthesis explain why?
What is hetgrosis®y,.
Glvadefinitions for organic farming?

)

Section - Il
Note : Apswerany three of the following questions. Question No. 19 is compulsory :- IX3=9
. Bring'outtbe different steps involved in mechanism of crossing over.
List gut the application of plant tissue culture.
- Explalp afforestration with case study.
Distinguish habitat and niche.
What are the abjectives of plant breeding?
Section - IV
Note : Answer all the questions : _ 2X5=10
a) Give a detailed account on parthenocarpy. Add a note on its signigicance. (OR)
b) Explain about dihybrid cross
a) What is single cell prolein? Mention its application, (OR) '
u) Various stages of succession are given bellow. From the rearrange them accordingly. Find out the type of
succession and explain in detail | S .t
Reed - swampstale, phytoplankton stage, shrub stage, submerged plant stage, forest stage; submerged free

floating state, marsh medow stage.
HTV 12 EM ®.ufflmsed Page . | -
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10.
1.
12.
13

15

20.

21,

Bio - Zoology Section - |
Note : L. Answer all the questions. il. Choose the given four alternatives and write the option code and

the corresponding answer .- gA1=0
The mode of reproduction in bactena by

&) Formation of gametes b) Endospore formation ¢) Conjugalion d) Zoospore formation

Mammakanegg is -
a} Mesolacithal and non cleidoic bl Microlecithal and non cleidoie

=) Alecithal and non Clerdoic d) Alecithal and cleidoic

Pataus syndrome s also referred to as

a) 13 - Tnsomy b) 18 - Trisomy c)21- Trisomy d) None of these
Which period was called age of fishes,

a) Permian b) Triassic ¢) Devenian d) Ordovician
The purpose of biological treatment of waste waler is to
a) Reduce BOD b) Increase BOD ¢) Reduce sedimentation d

Animals that can move from fresh walter to sea calied as

a) Stencthermal b) Eurythermal c) Catadromous d)
Inwhich year Indira Gandhi with life Scanctuary established
a} 1976 b) 1988 c) 1967 d) 1836
The Neanderthal man had the brain capacity of
2] 1IN b) 650-800CC e 50CC _ 'd) 1600CC

T, ] ——y

Note : Answur any ﬂmenf thu iu!luwmq

Section - Il
Note : Ans_;@ three of the following question. Q.No. 19 is compulsory :- , 3X3=2

Dizw nnd izbel Eﬁx%ﬁparm?
k's theary of acquired characters? How?

eficiency can be corrected?
analysis of two species population interaction
on the following. a) Entrophication  b) Algal Bloom. : ) =

]

Section - IV
Note :Answer the following questions :- 5~ N

a) Give a schematic represchiation of spermatogenses and Onganeﬂs{'l hl,lmun. ‘
(OR) )

b) How does Hardy - Weinberg's expression (p'+2pqeq=1) explain that genetic equilibrium ﬁmlnm h':a'-
Popuiation? List any four factor that can disturb the genetic equilibrium. 1.

a) Mention the advantages and disadvantages of cloning?
(QR)

2X5= 10

'b) How does recycling help reduce pallution?
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12 s BIOLOGY IINDENE
TIME: 3.00 Hrs BIO - BOTANY Marks: 70
PART -1

Answer all the questions. Choose the Correct Answars. B=1=8
1) Identify the incorrect pair
a) sporopollenin - exine of pollen grains.
b) Tapetum . Nutritive tissue for developing microspores o,
C) Nucellus - Nutritive tissue for developing embryo embryo ﬁ‘ )
d) obturator - directs the pollen tube into micropyle %ﬁj
2) 1) Independent assortment induce genetical variation A,

2) Ascorbic acid decreases the damage caused by by hydrogen peroxide
3) Genetic map are useful in protecting results. of trihybrid Crosses
4) Codine used as Cardiac tonic of the above slatements, the correct sta
a)1and3 b)1.2.4 c)land 4

3)  Ina fresh water environment like pond, rooted autotrophes are
a) Nymphaea and typha b) Ceratophyllum and Utricularia. ¢) Wol

4. Which of the following is not a gaseous cycle l
a) oxygen i b) carbon c) Nicrogen _ /' d) calcium
5. Match the following: o Ny '
A. Indian Acalypha - 1) Ps drug.
B. opium poppy - 2) Calgiu J
C. Veldt grape. - 3) Entrepre plant
Ri

D. Seaweed liquid. fertilizer - ngworms
. @a4c3 c-1d-2 b)a-db-1c-3d-4¢€)ax4b-20-1d -3 dja-4 b-1c-2d-1
6 Statement (A): Energy pyramid is alwa .-_..‘-

Reason (R): Gradual increase in energy trans er at asuccess

a) A and b) A Correct RWwrong = c¢) A and R Correct d) Awrong R correct
7 Protopla ested with ........... . befare the culture.
' antrations. b) PEG d) Sodium acetate.
8 here. Can lead to on increased incidence of Cancer?
' ¢) Ammonia d) Nitrous oxide
PARTHI

4x2=8

No-14 is compulsory. 3x3=9

2x5 =10
afine Heterosis. Explain its types

s. (OR) Give an account on Golden Rice.

12 Biology PAGE - 1
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PART -1 BIO-ZOOLOGY (SECTION -1) TOTAL MARKS: 35

Note: Answer all the questions Choose the most appropriate answer, 8x18
1. Biston betularia is best example for

a) Convergent evolution (b) divergent evolution c) Industrial melanism (d) None of the above
2. Which of the following is true about Rh factor in the offspring of a parental combination Ddx Dd
a) All will be Rh-positive b) Half will be Rh positive
c) About 3/4 will be Rh negative d) About one fourth will be Rh
3. Read the given statements and select the correct option negative.
Statement 1: Diaphragms, cervical caps and Vaults are made of rubber and are inserted Intu the

female reproductive tract to cover the Cervix before coitus P
Statement 2: They They are chemical barriers of Canception and are reusable. xi_ 5
a) Both statements 1 and 2 are correct and statement 2 is the correct explanation q{'mlﬁnt 14'?'
b) Both statements 1 and 2 are correct but Statement 2 is not the correct explana et 1.

c) statement 1 is correct but statement 2 is incorrect. d) Both statements 1 agd ‘I'nm ct
4.  This codon has dual function both its acts as initiator codon and also mdqﬂ ‘for the ammu ‘acid

methionine a) UAA (b) AUG £}4.|ﬁgt3 (d) UGA
5. With which of the following, ‘the Agenda 21' of Rio Summit, 1992 us;efﬁlaﬁ l-:}"?‘
a) Sustainable development. b) Combating the owﬁequanqaﬁnf pﬂpulﬂﬂﬂﬂ

c) Mitigation of norms of Green House gases (HGS) emission, '
d) Technology transfer mechanism to developing Ccuntnes‘.ﬁ’:r cIeart’—ﬂul@y production.

6.  Suspend is a type of animal responses observad in the arﬂ[nais wm!;h does nol include this.
a) hibernation b) diapause :Mesmtm‘n e (d) Migration.

8.  Which of the folum'ug microorganism is used for prod uc}hn -::-I'r citric acid in industries?
a) Lactobacillus bulgaris  (b) Penicillium apecl‘esf,gj hspgtgulus niger (d) Rhizopus nigricans.

7.  Chickengunya is a r 4 s
a) Viral disease (b) Bacterial &mai d) Protozoan
SECTION-< 2
¢ 4X 2=8
germ cell gene therapy.
e to to the participation in an exercise Programme?
* SECTION - 3
19 of the following questions Compulsory.
3x3=9
amples reproduce by parthenocarpic of animals method.
2x5=10

oals of human genome Project. (OR)

12 Biology PAGE - 2
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12Bio Virudhunagar District Common Examinations m
v Common Half Yearly Examination - December 2022
VIEUDHUNAGAE L
Standard 12
' Time: 3.00 Hrs. BIOLOGY Marks: 70
Instructions: 1. Check the question paper for fairness of printing. If thereis

any lackof fairness, inform the Hall Supervisor immediately.
2. Use Blue or Black ink to write and underline and pencil to draw

diagrams.

Note: Candidate should answer Part - 1 (Bio-Botany) & Part-1II (Bio-Zoology)
in separate answer - books. '

PART - I [BIO-BOTANY] Marks: 35
Section -1
Note: i) Answer all the questions. 8x1=8

ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1) Size of pollen grain in Myosotis is micrameter. _
a) 10 b) 20 c) 200 d) 2000
2) Alternative forms of a gene are / is called
a) Genome b) Alleles c) Genotype d) Genetic code
3) Match the following:
1. Exonuclease - A) add orremove phosphate
2. Endonuclease - _B) binding the DNA fragment
| 3. Alkaline phosphatase - C) cut the DNA at terminus
i 4. Ligase : - D) cutthe DNA at middle
| 1 2 3 a4 1 2 3 4 |
| a)A B»C, D : byC D B - A i
| o)A €. B "D ) C D A B
| 4) Virus free plants are developed from
' a)'cell suspension culture b) organ culture
¢) Meristem culture d) Protoplast culture
5) For the given statements with respect to Eichhornia select the suitable

= @nswer,
Statement A : It drains of oxygen from water and is seen growing in
standing water.
StatementB : Itis an indegenous species of our country.
a) Statement A is correct and statement B is wrong.
b) Both the statement A and B are correct.
¢) Statement A is wrong and statement B is correct.
d) Both the statement A and B are wrong.
6) Which of the following is incorrectly paired?

a) Wheat - Himgiri
b) Milch breed - Sahiwal
c) Rice - Ratna
d) Pusa komal - Brassica

WWW.Wwaytosuccess. org 13 Scannedyyibdagntoo@email. come
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7) Tectona grandis is coming under the following
a) Dipterocarpaceae b) Lamiaceae
c) Ebenaceae d) Fabaceae
8) Pedogenesis refers to
a) Population b) Fossil c) Soll d) Water
Section - II
Answer any four of the following: 4x2=8

9) The endosperm of Angiosperm Is different from Gymnosperm. Do you agree?
Justify your answer.
10) What do you know about the word pBR 3227
11) What is CCS?
12) In 4 o'clock plant

Pale green leaved plant (Male) x Dark green leaved plant (Female)
1

[

Explain the type of inheritance.

13) Write the Botanical name and family of Nilavembu. Write any one of its
uses.

14) What is called phytoremediation?

Section - III ,
Answer any three of the following. Question No. 19 is compulsory:  3x3=9
15) What is polyembryony? Write its uses,
16) What is gene mapping? Mention its uses.
17) What is Green House Effect? Draw the relative contr
house gases.
18B) Define Heterosis,
19) How areartificial seeds produced?

ibutions of green

Section - 1v
Answer the following questions:
20) a) What are the King and Queen of Spices? Write their uses.
(OR)

b) Water is essential for life.
for plants which enabl
environment.

21) a) Discuss the steps involved in Microsporogenesis,
(OR)
b) Write the applications of plant tissue culture.

2x5=10

State the reason. Write any four features
e them the survive in water scarcity

14 Scannedyyibdagntoo@email. come

www. waytosuccess.org



WwAY TO SUCCESS

vi2Bio

Note: i) Answer all the questions.

3
PART - II [BIO-ZOOLOGY] Marks: 35

Section-1
Bx1=R

ii) Choose the most appropriate answer from the given four alternatives

1)

2)

3)

4)

3)

6)

7)

8)

www. waytosuccess.org

and write the option code and the corresponding answer.
The glandular accessory organ which produces the largesl proportion of

semen is

a) Seminal vesicle
c) Prostate gland
Haemophilia is more commaon in males because itis a

a) Recessive character carried by Y chromosome

b) Dominant character carried by Y chromosome

c) Dominant trait carried by X chromosome

d) Recessive trait carried by X chromosome

Which of the following is the correct sequence of event with reference to
the central dogma?

a) Transcription, Translation, Replication

b) Transcription, Replication, Translation

c) Duplication, Translation, Transcription

d) Replication, Transcription, Translation

The difference between DNA sugars-and RNA sugars is

a) One oxysen atom excess in deoxyribose sugars

b) One oxysen atom less in ribose sugars

c) Two oxysen atoms lessin ribose sugars

d) Oneoxysen atom lessin deﬁxvribnse sugars

In the E waste generated by the mobilephones. Which among the following
metal is most abundent?

a) Gold byCopper ~  c) Silver d) Palladium

b) Bulbourethral gland
d) Mucous gland

Assertion (A) : XX - XO type of sex determination is seen in bed bugs,
cackroaches and grasshoppers.
Reason (R) : The sex of offspring depends upon the sperm that

fertilizes the egq.

a) Both (A) and (R) are true and (R) is not the correct explanation for (A).

b) Both (A) and (R) are false.

c) (A)istrue and (R) is false.

d) Both (A) and (R) are true and (R) is the correct explanation for (A),
p cells that produce and release large amounts of antibody is called

a) Killer cells b) Memory cells
¢) Basophils d) Plasma cells
Competition between species leads to
a) Extinction b) Mutation
C) Amensalism d) Symbiosis
15 ScannedyyibdaaintRo@Email come
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Section - 2
Note: Answer any four of the following questions. 4x2=8

9) What is the composition of semen?

10) What is Karyotyping?

11) Write any two application of DNA finger printing technc—lng‘b"

12) Write a notes on connecting links with example.

13) What is Bioremediation?

14) Write the important and potential application of human stem cells,

Section-3
Note: Answer any three of the following questions. 3x3=9
Question number 19 is compulsory.
15) What is regeneration? Explain its types.
16) Write about gene banks.

17) Name the hormone secreted by thymus gland and mention two functions of
the hormone.

18) Write the difference between Primary Immune response and Secondary
Immune response.

19) How does chemical mediation act as physiological barrier?

Section-4
Note: Answer the following questions. 2x5=10
20) Mention the advantages and disadvantages of cloning.
(OR)
Give an account of modern synthetic theory,
21) Write the salient features of Human genome project.
(OR)
Write a detailed note on various types of natural methods of contraception.
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